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1. The blotting technique used in DNA finger
printing
[a] Southern [b] Northern
[c] Western [d] Eastern
[e] Elisa

2. The production of artificial  insulin through
genetics  engineering  is done by ................
[a] Human cell [b] Bacteria
[c] Virus [d] Animal cell
[e] Plant cell

3. The virus in which RNA acts as genetic
material
[a] Retrovirus [b] Polio Virus
[c] Herpes virus [d] Dengue virus
[e] Variola virus

4. The plant having  least number of chromo-
some
[a] Haplopappus gracil
[b] Cocos nucifera
[c] Colocasia
[d] Oriza sativa
[e] Magnifera Indica

5. Which of the following  is related  to the
word ‘capsid’
[a] Virus [b] Bacteria
[c] Fungus [d] Protozoa
[e]  Blue green alga

6. Blood cells are not  formed in  cartilages
why ?
[a] Less hard
[b] Less in number
[c] Absence of bone  marrow
[d] Less calcium phosphate
[e] MoreCalcium phosphate

1. ^n¦À {]nânw-Kn\v D]-tbm-Kn-¡p¶ t»m«nwKv
hnZy
[a] ktX¬ t»m«nwKv
[b] t\mÀtX¬t»m«nwKv
[c] shtÌ¬t»m«nwKv
[d] CutÌ¬ t»m«nwKv
[e] Fenk

2. P\n-XI F©n-\o-b-dnw-Kn-eqsS  Ir{Xna
C³kp-en³ \nÀan-¡p-¶Xv ............ BWv
[a] a\pjy tImi-§Ä [b] _mIvSo-cnb
[c] sshd-kp-IÄ [d] P´p tImi-§Ä
[e] kky tImi-§Ä

3. ................-ssh-d-kp-IfnÂ RNA P\n-XI LS-
Iambn  {]hÀ¯n-¡p-¶p.
[a] dnt{Sm sshdkv [b]t]mfntbm sshdkv
[c] slÀ¸kv sshdkv [d] sU¦p sshdkv
[e] hmcn-tbmf sshdkv

4. Gähpw  Ipdhv  t{Imatkmw kwJy-bpÅ
[a] lm]vtfm-]m-¸kv {Kmkn-en,
[b] sImt¡mkv \yqkn-^d
[c] sImsfmt¡jy
[d] Hssdk kssäh
[e] am³Pn-s^d C³UnI

5. Iym]v-knUv F¶Xv Xmsg X¶n-cn-¡p-¶-h-bnÂ
GXp-ambn _\m-[-s¸-«n-cn-¡p¶p
[a] sshdkv [b] _mIväo-cnb
[c] ̂ wKkv [d] t{]mt«m-tkmh
[e] »q{Ko³ BÂK

6.  Xcp-Wm-Øn-IÄ cà-tIm-i-§sf DÂ]m-Zn-¸n-
¡m-dnÃ ImcWw?
[a] ISp¸w Ipd-hmWv
[b] F®w Ipd-hmWv
[c] AØn-a-Ö-bnÃ
[d] ImÂkyw t^kv^-dkv Ipd-hmWv
[e] ImÂkyw t^kv^-dkv IqSp-X-emWv
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7. In the manufacture of ammonia ( NH
3
) by

Haber process 224L of N
2
is treated with 672L

of H
2 
then volume of NH

3
 produced will be

[a] 448L [b] 224L [c] 112L

[d] 896L [e] 44.8L

8. Two cylinder A and B contain equal number of

moles of CI
2
 and NH

3
 respectively.The mass

of CI
2 
gas in A is 355g. What is the volume of

NH
3 
in cylinder

 
B at STP? [Atomic mass :CI =

35.5, N=14, H=1]

[a] 22.4L [b] 224L [c] 11.2L

[d] 56L [e] 112L

9. The molecular formula of an organic compound

is C
4
H

8
O. The possible functional group iso

mer pair is

[a] CH
3
CH

2
CH

2
OH and CH

3
-O-CH

3

[b] CH
3
-CO-CH

3
 and CH

3
-CH

2
-CHO

[c] CH
3
-CH

2
-O-CH

3
 and CH

3
-CH

2
-COOH

[d] CH
3
-CO-CH

2
-CH

3
 and CH

3
-CH

2
-CH

2
-CHO

[e] CH
3
-CH

2
-CH

2
-OH and CH

3
-CH

2
-CHO

10. A,B,C and D are four metals in the reactivity

series. A can displace B from its salt solution.

But B can’t displace C and at the same time, C

can displace A from its salt solution. When a

rod of D is placed in a salt solution of C, the

rod of D is seen coated by traces of C. Then

the most reactive metal among these is

[a] D [b] C [c] A

[d] B [e] None of these

7 tl_À {]{Inb hgn Atam-Wnb (NH
3
)

\nÀ½n-¡p-t¼mÄ 224 L  N
2 
 672L H

2
 ambn

{]hÀ¯n¨p. F¦nÂ D­m-hp¶ NH
3
 bpsS

hym]vXw

[a] 448L [b] 224L [c] 112L

[d] 896L [e] 44.8L

8 A, B  F¶o knen-­-dp-I-fnÂ bYm-{Iaw Xpey-

F®w tamfp-IÄ CI
2
,NH

3
 F¶o hmX-I-§Ä

AS-§n-bn-cn-¡p-¶p. A bnse CI
2
 hmX-I-

¯nsâ amÊv 355g BWv. F¦nÂ knen-­À

B bnse NH
3
 bpsS STP bnse hym]vXw?

[a] 22.4L [b] 224L [c] 11.2L

[d] 56L [e] 112L

9. Hcp HmÀKm-\nIv kwbp-à-̄ nsâ X·m{X

kq{XwC
4
H

8
O Xmsg ]d-bp-¶-h-bnÂ ^wKvj-

WÂ {Kq¸v sFtkm-aÀ tPmUn BIm³ km[y-

X-bp-f-fXv

[a] CH
3
CH

2
CH

2
OH and CH

3
-O-CH

3

[b] CH
3
-CO-CH

3
 and CH

3
-CH

2
-CHO

[c] CH
3
-CH

2
-O-CH

3
 and CH

3
-CH

2
-COOH

[d] CH
3
-CO-CH

2
-CH

3
 and CH

3
-CH

2
-CH

2
-CHO

[e] CH
3
-CH

2
-CH

2
-OH and CH

3
-CH

2
-CHO

10. A, B, C, D F¶nh {Inbm-i-oe t{iWn-bnse \mev
teml-§-fm-Wv.  A  bv¡v  B  sb AXnsâ ehW
emb-\n-bnÂ \n¶pw BtZiw sN¿m³Ign-bpw.
F¶mÂ  B  bv¡v  C sb BtZiw sN¿m³
Ign-bn-Ã. AtX kabw Cbv¡v Asb AXnsâ
ehW emb-\n-bnÂ \n¶pw BtZiw sN¿m³
Ign-bpw. D F¶teml-¯nsâ ZWvUv  C F¶
teml-¯nsâ ehW emb-\n-bnÂ ap¡n-sh-¨-
t¸mÄ  D F¶ teml-Z-WvUnsâ apI-fnÂ
CbpsS Awiw te]\w sN¿-s¸-«-Xmbn I­p.
F¦nÂ Ch-bnÂ Gähpw {Inbm-io-eX IqSnb
temlw
[a] D [b] C [c] A
[d] B [e] -Ch-sbm-¶p-a-Ã.
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11. When an organic compound ‘x’ is treated with
another organic compound ‘y’ in the presence
of Sulphuric Acid a product with smell of fruits
and flowers is obtained. The reactants ‘x’ and
‘y’ are likely to be

[a] CH
3
CH

2
CI and CH

3
-O-CH

3

[b] CH
3
COOH and  CH

3
CHO

[c]  CH
3
COOH and CH

3
CH

2
OH

[d] CH
3
-CO-CH

3
 and  CH

3 
-O-CH

3

[e]  CH
3
COOH and  CH

3
CH

2
CI

12. AHCICHCH   when A undergoes

polymerisation reaction the product formed is
[a] Polythene [b] Polypropene
[c] vinyl chloride [d] polyester
[e] PVC

13. The mass of KOH in its 100ml solution is
5.6 g. Then the concentration of the solution is
[atomic mass : K=39, O=16, H=1]
[a] 1M [b]0.5M [c] 2M

[d] 0.25M [e] 0.1 M

14. When an electric  lamp is  switched on  no
visible  light is produced  inside  it. Yet  it
gives  out  light . What type of  lamp is this ?
[a] Discharge lamp
[b] Flourecent lamp
[c] LED
[d] Incandecent lamp
[e] None of these

15. Commercial unit of electric  energy is
kilowatt hour (kwh) convert 1 kwh  in to
joule?
[a] 360 J [b] 36000J
[c] 3600J [d] 3600000 J
[e] None of these

11  . x  F¶ Hcp HmÀKm-\nIv kwbpàw y  F¶
asämcp  HmÀKm\nIv kwbp-à-hp-ambn kÄ^yq-

-- --cnIv Bkn-Unsâ km¶n-[y-¯nÂ {]hÀ¯n-¨-
t¸mÄ ]g-§-fp-sSbpw ]q¡-fp-sSbpw KÔ-ap-ff
Hcp DXv]¶w D­m-bn. F¦nÂ A`n-Im-c-I-§-

---fmb x,y F¶nh-bm-Im³ km[y-X-bp-f-f-Xv.

[a] CH
3
CH

2
CI and CH

3
-O-CH

3

[b] CH
3
COOH and  CH

3
CHO

[c] CH
3
COOH and CH

3
CH

2
OH

[d] CH
3
-CO-CH

3
 and  CH

3 
-O-CH

3

[e]  CH
3
COOH and  CH

3
CH

2
CI

12 AHCICHCH   A   t]mfnsassdtk-

j\v hnt[-b-am-bmÂD­m-Ip¶ DXv]¶w
[a] t]mfn-̄ o³ [b] t]mfn-s{]m-¸n³
[c] hnss\Â t¢mssdUv [d] t]mfn-sb-ÌÀ

[e] ]n.-hn.-kn.

13 100ml emb-\n-bnÂ KOH sâ amkv   5.6 g
BWv. F¦nÂ Cu emb-\n-bpsS KmU-X.

[Atäm-anIv amkv : K=39, O=16, H=1]

[a] 1M [b]0.5M [c] 2M
[d] 0.25M [e] 0.1 M

14. sshZyp-Xn-bnÂ {]hÀ¯n-¡p¶ Hcp em¼v
kzn¨v HmWm-¡n-b-t¸mÄ AXnsâ DÅnÂ Zriy
{]Imiw D­m¡p-¶nÃ. F¶mÂ ]pd-t¯¡v
{]Imiw Xcp-¶p-ap-­v. GXv Xcwem¼m-WXv ?
[a] UnkvNmÀÖv em¼v
[b] ^vfqd-skâv em¼v
[c] LED
[d] C³Im-U-skâv em¼v
[e] CsXm-¶p-aÃ

15 sshZyp-tXmÀP-¯nsâ hyh-km-bnI bqWnäv
Intem-hm«v HuhÀ BWv. 1 kwh  F{X PqÄ
BWv.?
[a] 360 J [b] 36000J
[c] 3600J [d] 3600000 J
[e] CsXm-¶p-aÃ
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16. The main constituent  present in LPG is........
[a] Hydrogen [b] Ethane
[c] Butane [d] Propane
[e] Ogygen

17  The Practical unit of  loudness is ............
[a] Decibel [b] Hertz
[c] Watt/m2 [d] Candella
[e] None of these

18 SONAR is an equipment  which works on
the  echo  principle of sound. A sound is
produced  on the surface  of water . If it is
heared  again after  ten seconds  the depth of
that  area is  (the speed  of sound in water  is
1482 m/s )
[a] 1482 m [b]14820 m
[c] 7410 m [d]148200 m
[e] 1500 m

19. Heart  beats  are  heared  through the
stethoscope by
[a] Vibration of sound
[b] The high  speed of sound
[c] The reflection of sound
[d] The high frequency of sound
[e] None of these

20 What phenomina  of  light is the reason
behind   the blue  appearence  of sky and
the  reddishness at  sun rise and sunset ?
[a] Defraction [b] Scattering
[c] Reflection [d] Interference
[e] None of these

16. LPG  bnse  {][m\ LSIw  GXv ?
[a] ssl{U-P³ [b] CutY¬
[c] _yqt«³ [d] s{]ms¸-bn³
[e] HmIvkn-P³

17 D¨-X-bpsS bqWnäv ..................... BWv
[a] sUkn-_Â [b] slSvkv
[c] Watt/m2 [d]Im³s[e
[e] CsXm-¶p-aÃ

18 i_vZ-¯nsâ {]Xn-[z\n X¯zw D]-tbm-Kn¨v
{]hÀ¯n-¡p¶ Hcp D]-I-c-W-amWv tkmWmÀ

. kap-{Z-¯nsâ D]-cn-X-e-¯nÂ \n¶v D­m-¡nb
i_vZw 10 sk¡âp-IÄ¡v tijw ho­pw
tI«p F¦nÂ kap-{Z-¯nsâ Bgw F{X?
(Pe-¯nÂ i_vZ-¯nsâ thKX1482 m/s )
[a] 1482 m [b]14820 m
[c] 7410 m [d]148200 m
[e] 1500 m

19.  sÌXkv tIm¸n-eqsS lrZb kv]µ-\-§Ä
tIÄ¡m³ Ign-bp-¶-Xn\v ImcWw................
[a] i_vZ I¼\w
[b] i_vZ-¯nsâ IqSnb thKX
[c] i_vZ {]Xn-]-X\w
[d] i_vZ-¯nsâ DbÀ¶ Bhr-¯n.
[e] CsXm-¶p-aÃ

20 BImi \oen-abv¡pw  DZb AkvX-ab ka-b-
§-fnse Nph¶ BIm-i-¯n\pw  Imc-W-amb
{]-Imi {]-Xn-`mkw.......................
[a] Un{^m-£³ [b] hnk-cWw
[c] A]-hÀ¯\w [d] CâÀ^-d³kv
[e] CsXm-¶p-aÃ
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21. If the line joining the points  (a, 4), (0,5)  and
the line joining  the points (2,0) (7,b) are
parallel. Then the  value of  ab = ..............
[a] 1 [b] 5 [c] -5
[d] -1 [e] 0

22. 3 2( )P x ax bx cx d    , and

( ) ( ) 0b d a c     then which of  the

following  is a factor  of ( )P x ?

[a] 1x  [b] 1x 

[c] 2x [d] 2x 

[e] 3x 

23. 6 5 4 2( ) 3P x x px qx x x      . is

divisible by 4 1x  then the value of 2 2p q is

[a] 1 [b] 9 [c] 10
[d] 13 [e] 11

24. If 2x   is a common factor  of

3 24x x ax b    and 3 2 8x ax bx  
then the value of  a and b are :-------
[a] (3,5) [b] (2, - 4 ) [c] (4,0)
[d] (0,4)] [e] (-3, 5)

25. If  7 0a   ,  10 0b    and 2x ax b 
then one of the value of  x is  : ------

[a] 7 [b]  10 [c]  3
[d] 4 [e] 2

21. (a, 4), (0,5) F¶o _nµp-¡Ä  tbmPn-̧ n-¡p¶
hcbpw (2,0)(7,b) F¶o _nµp-¡Ä  tbmPn-̧ n-
¡p¶ hcbpw kam- -́c-amWv ab bpsS hne
F{X?
[a] 1 [b] 5 [c] -5
[d] -1 [e] 0

22. 3 2( )P x ax bx cx d    bpw

( ) ( ) 0b d a c    hpw  BIp-¶p. ( )P x

sâ LSIw GXv ?

[a] 1x  [b] 1x 

[c] 2x [d] 2x 

[e] 3x 

23. 6 5 4 2( ) 3P x x px qx x x       F¶

_lp ]Zs¯ 4 1x   sIm­v  ]qÀW-ambn

lcn-¡m-sa-¦nÂ 2 2p q  =  ...............

[a] 1 [b] 9 [c] 10
[d] 13 [e]11

24. 2x   F¶Xv  3 24x x ax b    bptSbpw

3 2 8x ax bx    sâbpw  s]mXp LSIw

BWv. a , b F¶n-h-bpsS hne F{X?
[a] (3,5) [b] (2, - 4 ) [c] (4,0)
[d] (0,4)] [e] (-3, 5)

25. 7 0a   ,  10 0b    2x ax b    bpw

F¦nÂ x  sâ  hne F´v ?

[a] 7 [b]  10 [c]  3
[d] 4 [e] 2

SPACE FOR ROUGH WORK
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26. The sides of the square  ABCD is parallel to
axes. What is the  slope of the diagonal AC ?
[a]   [b] 1 [c] 0
[d] 2 [e] 2

27. If the lines  0ax by c    and

0mx ny p    are parpendicular,  then the

value  of   
am

bn
 is : ----------

[a] 1 [b] 1

[c]  0 [d] 2
[e] 2

28. In , (3,5), (7,8), (1, 10)ABC A B C   Find the

equation of the median through A ?

[a] 6 23x y  [b] 6 23x y 

[c] 6 23x y  [d] 6 23x y 

[e] 23 6x y 

29. ‘A’ working alone  would take  9 hrs to
complete a job while’B’ working alone
would take  3 hours  more to finish the job.
What is the  time taken for completing  the
work by  A and B working  together

[a] 
7

36
[b] 

36

7

[c] 12 [d] 21

[e] 
2

15

30.  Sum of first  n + 1  terms of an  arithmatic

sequence  is  23 11 8n n   then  its

algebraic form [nth term] is
[a] 3n + 11 [b] 11n + 8
[c] 6n + 2 [d] 6n - 2
[e] 2n + 1

26. ABCD F¶  ka-N-Xp-c-¯nsâ hi-§Ä
A£-§Ä¡v  kam- -́c-am-Wv. CXnsâ
hnIÀW-ambn AC F¶ hc-bpsS Ncnhv F{X?
[a]   [b] 1 [c] 0
[d] 2 [e] 2

27. 0ax by c   F¶ hcbpw

0mx ny p   hcbpw  ]c-kv]cw ew_-

amWv  
am

bn
=........................

[a] 1 [b] 1

[c] 0 [d] 2
[e] 2

28. ABC  bnÂ (3,5), (7,8), (1, 10)A B C 

{XntIm-W-¯nsâ A bneq-sS-bpÅ a[ya tcJ-
bpsS ka-hmIyw F´v ?

[a] 6 23x y  [b] 6 23x y 

[c] 6 23x y  [d] 6 23x y 

[e] 23 6x y 

29. ‘A’ X\n¨v Hcp tPmen  9 aWn-¡qÀ sIm­v
XoÀ¡pw  B X\n¨v B tPmen XoÀ¡m³
A’sb¡mÄ 3 aWn-¡qÀ IqSp-XÂ FSp¡pw .
A’bpwB bpw  Hcp-an¨v BtPmen F{X kabw
sIm­v XoÀ¡pw?

[a] 
7

36
[b] 

36

7
[c] 12

[d] 21 [e]  
2

15

30.  Hcp kam´c t{iWn-bpsS BZys¯ XpSÀ¨-

bmb n + 1   ]Z-§-fpsS  XpI 23 11 8n n 
F¦nÂ CXnsâ _oP KWnX cq]w F´v ?
[a] 3n + 11 [b] 11n + 8
[c] 6n + 2 [d] 6n - 2
[e] 2n + 1
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31. If ‘A’ and ‘B’  can do a job in 24  days ‘B’
and ‘C’ in 18 days and  ‘C’ and ‘A’ in 36
days. If they all working together  the job will
be  over in
[a]  8 days [b] 6 days
[c] 16 days [d] 15 days
[e] 12 days

32. Garden

4m

4m

4m

A square  garden  is bounded  on three sides
by a path  4m  wide . If the area of the  path  is

7

8
 that of the garden . Find the length  of the

side of the  garden ?

[a] 4m [b] 8m
[c] 10m [d] 12m
[e] 16m

33. The points  (k,3) (2, - 4 ) and ( 1, 2)k  

are collinear then find  k ?

[a] 
1

3


[b] 

1

3

[c] 
1

9
[d] 

1

9



[e] 1

31. Abpw Bbpw  IqSn  Hcp tPmen 24 Znhkw
sIm­v XoÀ¡pw B bpw C bpw  IqSn
B tPmen  18 Znhkw sIm­v XoÀ¡pw . C
bpw A bpwIqSn  B tPmen 36  Znhkw
sIm­v  XoÀ¡pw .Abpw Bbpw C bpw IqSn
Hcp-an¨v B tPmen  F{X Znhkw sIm­v
XoÀ¡pw
[a]  8 Znhkw [b] 6 Znhkw
[c] 16 Znhkw [d] 15 Znhkw
[e]12 Znhkw

32. Garden

4m

4m

4m

ka-N-Xp-cm-Ir-Xn-bn-epÅ Hcp ]qt´m-«-¯n\p
aq¶v `mK¯v  Nn{X-̄ nÂ ImWn-̈ n-cn-¡p-¶Xv
t]mse 4 aoäÀ hobn-bpÅ Hcp ]mX-bp-­v.
]mXbpsS ]c-¸-fhv  ]qt´m-«-¯nsâ ]c-¸-f-

hnsâ 
7

8
 `mK-am-Wv. ]qt´m-«-¯nsâ Hcp hi-

¯nsâ \ofw ImWp-I.
[a] 4m [b] 8m
[c] 10m [d] 12m
[e] 16m

33. (k,3) (2, - 4 ), ( 1, 2)k   F¶o _nµp-

¡Ä Hcp hc-bn-emWv  k bpsS hne F{X?

[a] 
1

3


[b] 

1

3

[c] 
1

9
[d] 

1

9



[e] 1
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34. First term  and common difference  of an
arithemetic sequence are equal. If the sum
of first two terms is10. What is its third term?
[a] 10 [b] 12 [c] 15
[d] 20 [e] 5

35. 10th term of an  arithmetic sequance  is 
1

15

and 15th  term is 
1

10
 what is its 150th term?

[a] 1 [b] 1 [c]
1

25

[d]
1

5
[e] 

1

15



36. Lateral  faces of  a  square pyramid are
equilateral  triangles  and its  lateral height is

5 3cm . What is its  height ?

[a] 5 cm [b] 6 3 cm

[c] 5 3 cm [d] 15cm

[e] 5 2 cm

37. In ABC , AB = 9cm , AC = 15cm , BC =

12cm. What is its inradius
[a] 3 cm [b] 7.5 cm
[c] 6 cm [d] 15 cm
[e] 9 cm

34. Hcp kam-´c t{iWn-bpsS  BZy ]Zhpw
s]mXp hyXym-khpw  Xpey-am-Wv. BZys¯ 2
]Z-§-fpsS  XpI 10 F¦nÂ CXnse  3mw ]Zw
F{X?
[a] 10 [b] 12 [c] 15
[d] 20 [e] 5

35. Hcp kam-´c t{iWn-bpsS  10mw ]Zw
1

15

15mw ]Zw
1

10
 , CXnsâ 150-mw ]Zw F{X?

[a] 1 [b] 1 [c]
1

25

[d]
1

5
[e]

1

15



36. Hcp ka-N-Xpc kvXq]n-I-bpsS  ]mÀiz apJ-
§Ä  FÃmw ka-`p-P-{Xn-tIm-W-§Ä BWv.

CXnsâ ]mÀv tizm-¶Xn 5 3cm  F¦nÂ D¶Xn

F{X?

[a] 5 cm [b] 6 3 cm

[c] 5 3 cm [d] 15cm

[e] 5 2 cm

37. ABC  bnÂ  AB = 9cm , AC = 15cm ,

BC = 12cm.  ABC  bpsS  A´Àhr¯

Bcw  F{X?
[a] 3 cm [b] 7.5 cm
[c] 6 cm [d] 15 cm
[e] 9 cm
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38

A large square is divided  in to a small  square
surrounded by 4 congruent rectangles. The
perimeter  of each rectangles are 14 cm . What
is the  area of  large square ?

[a] 14 cm2 [b] 7cm2

[c] 196 cm2 [d] 49 cm2

[e] 35 cm2

39. What is the  maximum value of  k,  If the poly
nomial  2x2 + kx +16. can be written  as the
product  of  two  first  degree polynomials?

[a] 8 2 [b] 3 4

[c] 6 2 [d] 6 3

[e] 2 3

40. A line cuts x- axis at ‘5’ and  y- axis  at ‘6’.
What is its  slope ?

[a] 
6

5
[b] 

5

6
[c] 1

[d] 
6

5


[e] 

3

2



41. If the  sides  of  a right  angled  triangle  are
the terms  of arithemetic  sequence  with  com
mon difference 6, what is the hypotenuse ?
[a] 30 [b] 8 [c] 10
[d] 20 [e] 4

38.

Hcp henb ka-N-Xpcw   Nn{X-̄ nÂ ImWn-̈ n-
cn-¡p-¶Xv t]mse  Hcp ka-N-Xp-chpw
AXn\v Npäp-ambn  kÀÆ-k-a-§-fmb 4 NXp-c-
§-fp-ambn  hn`-Pn-¨n-cn-¡p-¶p.  Hcp sNdnb
NXp-c-̄ nsâ Npä-fhv 14 cm  F¦nÂ henb
ka-N-Xp-c-¯nsâ ]c-¸-fhv F{X?
[a] 14 cm2 [b] 7cm2

[c] 196 cm2 [d] 49 cm2

[e] 35 cm2

39. 2x2 + kx +16 s\ c­v H¶mw IrXn  _lp-]-
Z-§-fpsS  KpW-\-^-e-ambn  Fgp-Xm³ Ign-b-
W-sa-¦nÂ k ¡v  kzoI-cn-¡m-hp¶  Gähpw
henb kwJy F{X?

[a] 8 2 [b] 3 4

[c] 6 2 [d] 6 3

[e] 2 3

40. Hcp hc x- A£s¯ 5 epw y- A£s¯
6epw  JWvUn-¡p-¶p. Cu hc-bpsS Ncnhv
F´v ?

[a] 
6

5
[b] 

5

6
[c] 1

[d] 
6

5


[e] 

3

2



41. Hcp a«-{Xn-tIm-W-¯nsâ hi-§Ä  s]mXp-
hy-Xymkw 6 Bb  kam-´c t{iWn-bnse
]Z-§Ä BWv. Cu {XntIm-W-¯nsâ  IÀWw
F{X?
[a] 30 [b] 8 [c] 10
[d] 20 [e] 4
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42. What is the minimum value of the polinomial
11 + 20 x - 4x2 ?
[a] 11 [b] 36 [c] 25
[d] 4 [e] 18

43. If 24sin 4sin 1 0x x    then what is  cos x

[a] 
1

2
[b] 

1

3
[c] 

1

2

[d] 
1

3
[e] 

3

2

44. If 
2

2

1
7x

x
   then value of 

1
x

x
 is

[a] 4 [b] 5 [c] 3
[d] 6 [e] 1

45. If the hypotenuse  of a right  angled  triangle
is  41cm  and the area of  the triangle  is 180
cm2,  then the difference between  the lengths
of  the perpendicular  sides of the  triangle
must be
[a] 20 [b] 21 [c] 30
[d] 31 [e] 24

46. If  6 6 6 .............x     then the

value  of  x is .......
[a] 0 [b] 2 [c] 6
[d] 1 [e] 3

42. 11 + 20 x - 4x2 F¶ _lp-]-Z-̄ nsâ
Gähpw Ipdª hne F{X?
[a] 11 [b] 36 [c] 25
[d] 4 [e] 18

43. 24sin 4sin 1 0x x    F¦nÂ  cos x  F{X?

[a] 
1

2
[b] 

1

3
[c] 

1

2

[d] 
1

3
[e]  

3

2

44.
2

2

1
7x

x
  F¦nÂ 

1
x

x
  F{X ?

[a] 4 [b] 5 [c] 3
[d] 6 [e] 1

45.  Hcp a« {XntIm-W-¯nsâ  IÀWw41cm
CXnsâ  ]c-¸-fhv 180 cm2  F¦nÂ  CXnsâ
ew_-h-i-§-fpsS  hyXymkw F{X?

[a] 20 [b] 21 [c] 30
[d] 31 [e] 24

46. 6 6 6 .............x      F¦nÂ x sâ

hne F{X?
[a] 0 [b] 2 [c] 6
[d] 1 [e] 3
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47. If 
3

sin
5

A   then what is  cos A ?

[a] 
3

4
[b] 

1

3
[c] 

1

4

[d] 
4

5
[e] 

2

3

48. The angle of elevation  of the  top of a
vertical  tower from  points at  distance 16m
and 9 m from  the foot of the tower and in
the same  line with it are  350 and 650. Then
the height of  the tower is
[a] 16m [b] 9m [c] 25m
[d] 12m [e] 13 m

49. A man standing  some distance  away from
the  foot  of a tree sees the top at  an angle
of  elevation  600, and after  stepping back
10 m he  sees the top at an  angle  of 300.
What is the  height  of the  tree ?

[a] 8 3 m [b]  2 3 m

[c] 10 3  m [d] 4 3 m

[e] 5 3 m

50. The ratio of areas  of the circum circle  and in
circle  of an  equilateral triangle is
[a]  2 : 1 [b] 4 : 1
[c] 3 : 1 [d] 9 : 1
[e] 8 : 1

51. If the smallest side  of a  right  angle triangle
is  13cm, then  which of the following can be
its   hypotenuse ?
[a] 84 [b] 85 [c] 83
[d] 82 [e] 80

47.  
3

sin
5

A   F¦nÂ cos A  F{X?

[a] 
3

4
[b] 

1

3
[c] 

1

4

[d] 
4

5
[e] 

2

3

48. Ip¯s\  \nÂ¡p¶ Sh-dnsâ Nph-«nÂ 16
aoädpw 9 aoädpw AIse \nÂ¡p¶ c­m-fp-
IÄ Sh-dnsâ A{Kw bYm-{Iaw 350 taÂ
tImWnepw  650 taÂ tImWnepw  ImWp-¶p.
Sh-dnsâ Dbcw F{X?
[a] 16m [b] 9m [c] 25m
[d] 12m [e] 13 m

49. Hcp ac-¯nsâ Nph-«nÂ Ipd-̈ -Ise \nÂ¡p¶
HcmÄ ac-¯nsâ  A{Kw 600 taÂ tImWnepw
10 aoäÀ ]pd-tIm«v amdn t\m¡n-b-t¸mÄ 300

taÂ tImWn-ep-amWv  I­Xv  ac-¯nsâ Dbcw
F{X?

[a] 8 3 m [b]  2 3 m

[c] 10 3  m [d] 4 3 m

[e] 5 3 m

50. Hcp  ka-`pP {XntIm-W-¯nsâ  ]cn-hr¯
]c-¸-f-hn-sâbpw  A´Àhr-¯-]-c-¸-f-hn-sâbpw
Awi-_Ôw?
[a]  2 : 1 [b] 4 : 1
[c] 3 : 1 [d] 9 : 1
[e] 8 : 1

51. Hcp a«-{Xn-tIm-W-¯nsâ  Gähpw sNdnb
hiw13cm  F¦nÂ  Xmsg sImSp-̄ n-cn-¡p-¶-
h-bnÂ AXnsâ IÀWw BIm-hp-¶Xv GXv ?
[a] 84 [b] 85 [c] 83
[d] 82 [e] 80
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52. Two poles are  ‘x’  metre apart .  At the middle
point  of the  line joining  their feets a man  finds
the angle of elevation of  their  tops to be  600

and 300 respectively, then the ratio of  the
heights of  poles is .....

[a] 3 :1 [b] 2 : 3

[c] 1: 2 [d] 3 : 1

[e] 2 : 1

53.

B

R

P Q

A

C

U

T S

In the figure  ABC is an  equilateral  triangle
and PQRSTU is  a regular hexagon. If  a point
is marked without looking  the figure .
What is the  probability  that  in side  the regu
lar  hexagon ?

[a] 
1

2
[b] 

2

3
[c] 

3

2

[d] 
1

3
[e] 

1

6

54.  Mean of  11 observations  is 19. If the  mean
of first 5 observations  is 17 and that  of last 5
observations  is 18  then  what is the  6th
observation ?
[a] 35 [b] 36 [c] 33
[d] 32 [e] 34

52. ‘x’ aoäÀ AI-e-¯nÂ c­v I¼p-IÄ Ip¯s\
\m«n-bn-cn-¡p-¶p.  CXnsâ NphSv X½n-epÅ
AI-e-¯nsâ a[y _nµp-hnÂ  \nÂ¡p¶
HcmÄ I¼p-I-fpsS  A{Kw 600 300 taÂ
tImWp-I-fnÂ ImWp-¶p.  I¼p-I-fpsS  Db-c-
§Ä X½n-epÅ Awi_Ôw ?

[a] 3 :1 [b] 2 : 3

[c] 1: 2 [d] 3 : 1

[e] 2 : 1

53.

B

R

P Q

A

C

U

T S

Nn{X-̄ nÂ  ABC Hcp ka-`pP {XntIm-Whpw
PQRSTU Hcp ka-j-Uv`p-P-hp-am-Ip¶p. Nn{X-
¯n-te¡v t\m¡msX  s]³knÂ sIm­v
Nn{X-̄ nÂ Hcp Ip¯v C«mÂ AXv jUv`p-P-
¯n-\-I-¯mhm-\pÅ km[yX F{X?

[a] 
1

2
[b] 

2

3
[c] 

3

2

[d] 
1

3
[e] 

1

6

54. 11 Af-hp-I-fpsS am[yw19 CXnse BZys¯
5 Af-hp-I-fpsS  am[yw17Dw Ah-km-\s¯ 5
Af-hpIfpsS  am[yw18Dw F¦nÂ 6-mw--as¯
Afhv F{X?
[a] 35 [b] 36 [c] 33
[d] 32 [e]  34
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55. In a school, average  score  of  girls is  78 and
that  of  boys  is 72, the average for the  school
is 75. The  ratio of number  of boys  to the
number  of  girls is
[a] 1 : 2 [b] 2 : 1

[c] 1 : 1 [d] 75 : 78

[e] 6 : 1

56. 40
0

40
0

A
O

D

BC

 In the figure ‘O’ is the cetre. If AB = 12 cm
then  what is the length of  CD ?
[a] 6 [b] 12 [c] 18
[d] 10 [e] 8

57. A

Q

P

B

O

In the figure ABO  is the equilateral if PB =

10cm, what is AQ ?
[a] 20 [b] 5 [c] 15
[d] 12 [e] 10

55. Hcp kvIqfnse s]¬Ip-«n-I-fpsS  kvtImdp-
I-fpsS  icm-icn 78 B¬Ip-«n-I-fpsS  kvtImdp-
I-fpsS icm-icn  72 Dw  kvIqfnse apgp-h³
Ip«n-I-fpsS kvtImdp-I-fpsS icm-icn  75Dw
BIp-¶p.  kvIqfnse B¬Ip-«n-I-fpsSbpw
s]¬Ip-«n-I-fp-sSbpw  F®-¯nsâ Awi-
_Ôw F´v ?
[a] 1 : 2 [b] 2 : 1
[c] 1 : 1 [d] 75 : 78
[e] 6 : 1

56.  40
0

40
0

A
O

D

BC

Nn{X-̄ nÂ  O’ hr¯ tI{µ-am-Ip-¶p. AB =
12 cm  F¦nÂ CD bpsS  \ofw F{X?
[a] 6 [b] 12 [c] 18
[d] 10 [e] 8

57. A

Q

P

B

O

Nn{X-̄ nÂ ABO  ka-`p-P-{Xn-tIm-Whpw

PB = 10cm Dw BIp-¶p. AQ hnsâ  \ofw
F{X?
[a] 20 [b] 5 [c] 15
[d] 12 [e]10
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58. A

O

B C

In the figure O is the  common centre of both
circles  and  OA = 25 cm , OB = 24 cm  what

is  the length of 2 2AC BC ?

[a] 7 [b] 14 [c] 34
[d]15 [e] 5

59.
A

B

CO
M

O and C are centres of the  circle.  If AB= 6cm
OM = 10cm , BC = 4cm What is the length
of  BM ?
[a] 6cm [b] 4cm [c] 9cm
[d] 5cm [e] 3cm

60.
A

BC

D

In the figure AB, CD are  tangents. If AB =
10 cm. Then what is CD ?
[a] 5 [b] 10 [c] 15
[d] 20 [e] 18

58. A

O

B C

Nn{X-̄ nÂ O c­v hr¯-¯nsâbpw  s]mXp-
hmb tI{µ-amWv OA = 25 cm , OB = 24 cm

F¦nÂ 2 2AC BC  bpsS \ofw F{X?

[a] 7 [b] 14 [c] 34
[d]15 [e] 5

59.
A

B

CO
M

O, C F¶nh hr¯-tI-{µ-§Ä AB= 6cm
OM = 10cm , BC = 4cm F¦nÂ  BM bpsS
\ofw F{X?
[a] 6cm [b] 4cm [c] 9cm
[d] 5cm [e] 3cm

60.
A

BC

D

Nn{X-̄ nÂ  AB, CD F¶nh sXm«p-h-c-IÄ
BWv AB = 10 cm F¦nÂ CD bpsS  \ofw
F{X?
[a] 5 [b] 10 [c] 15
[d] 20 [e] 18

VERSION : A SUBJECT CODE : PCMB14

                              Science Institute Manjeri : 0483 2768340 , Perinthalmanna : 04933 223221



61.

A
B

C
P

Q

D

E

In the figure  P and Q are centres  of the
circles and A is the  mid point of PQ. If
BC = 8cm What is  DE ?
[a] 8 [b] 4 [c] 10
[d] 6 [e] 5

62.

A B

CD

O

P

40
0

In the figure  ‘O’  is the centre, ODC  =

400, 090APD   Then what is ACB  ?

[a] 40 [b] 50 [c] 45
[d] 55 [e] 30

61

A
B

C
P

Q

D

E

Nn{X-̄ nÂ P, QF¶nh hr¯-tI-{µ-§Ä P, Q
hnsâ  a[y-_n-µp-hmWv A .BC = 8cm F¦nÂ
DE bpsS \ofw F{X?
[a] 8 [b] 4 [c] 10
[d] 6 [e] 5

62.

A B

CD

O

P

40
0

Nn{X-̄ nÂ ‘O hr¯-tI{µw ODC  = 400 ,

090APD   F¦nÂ ACB   F{X?

[a] 40 [b] 50 [c] 45
[d] 55 [e] 30
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63.

E

B

C

D

a

b

30
0

A F

In the figure B b  , A a  030BFC 
and 2b = a then what is the  value of b ?
[a] 30 [b] 60
[c] 90 [d] 40
[e] 50

64

A

B

E

C

40
0

80
0

D

O

In the figure ‘O’  is centre of  the circle
080AOC  , 040CDE   find ABC  ?

[a] 40 [b] 80
[c] 50 [d] 30
[e] 60

63.

E

B

C

D

a

b

30
0

A
F

Nn{X-̄ nÂ B b  , A a   bpw

030BFC   bpw2b = a  bpw BIp-¶p.

b bpsS hne F{X?
[a] 30 [b] 60
[c] 90 [d] 40
[e] 50

64.

A

B

E

C

40
0

80
0

D

O

Nn{X-̄ nÂ O hr¯-tI-{µhpw 080AOC 

 040CDE   bpw  BIp¶p ABC F{X?

[a] 40 [b] 80
[c] 50 [d] 30
[e]60
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65.

A

P

Q

B C

AC is a  tangent line and  P is the  midpoint  of
AC, If AB = AC and AQ = 4cm. Then find the
length of AB ?
[a] 4 [b] 8
[c] 16 [d] 12
[e] 14

66. 3 2( )P x ax bx cx d     and if 4
d c

a b






then which of the following  is a factor  of

( )P x

[a] 1x  [b] 2 9x 

[c] 2 1x  [d] 2 4x 

[e] 1x 

67. If the line  AB is perpandicular bisector  of

the line  PQ and  slope of AB is 
3

2
 what is

the slope of PQ

[a] 
3

2
[b] 

2

3



[c] 
2

3
[d] 

3

2



[e] 1

65.

A

P

Q

B C

AC sXm«p-h-cbpw AC bpsS  a[y-_nµp P
bpw BIp¶p AB = AC bpw AQ = 4cm
F¦nÂ AB bpsS \ofw F{X?
[a] 4 [b] 8
[c] 16 [d] 12
[e] 14

66. 3 2( )P x ax bx cx d     bpw 4
d c

a b





 Dw

F¦nÂ Xmsg X¶n-«p-Å-h-bnÂ ( )P x  sâ

LSIw  GXv ?

[a] 1x  [b] 2 9x 

[c] 2 1x  [d] 2 4x 

[e] 1x 

67. AB F¶ hc PQ F¶ hc-bpsS ew_-k-a-`m-

Pn-bmWv AB bpsS Ncnhv 
3

2
 F¦nÂ PQ

hnsâ Ncnhv  F´v ?

[a] 
3

2
[b] 

2

3



[c] 
2

3
[d] 

3

2



[e] 1
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68.

A

B C

D

P

Q

R

S

AP, BQ, CR, DS are angle bisectors of

, , ,A B C D     respectively. If

110PSR   that what is PQR ?

[a] 1100 [b] 400 [c] 550

[d] 350 [e] 700

69. A

P

Q

R

AP, AQ,AR are tangents  . If AQ = 15cm
What is  AR ?
[a] 12 cm [b] 6 cm
[c] 7.5 cm [d] 15cm
[e] 5 cm

70. Volume of a solid  hemisphere is  30 cm3 .
Find the volume  of a cone of maximum  size
which carved  out from  this hemisphere.?
[a] 30 cm3 [b] 15cm3

[c] 60cm3 [d] 120cm3

[e] 7.5 cm3

68.

A

B C

D

P

Q

R

S

AP, BQ,CR, DS  F¶nh , , ,A B C D   

F¶n-h-bpsS ka-`m-Pn-IÄ BWv.

110PSR   F¦nÂ PQR  F{X?

[a] 1100 [b] 400 [c] 550

[d] 350 [e] 700

69.  A

P

Q

R

AP, AQ,AR F¶nh sXm«p-h-c-IÄ BWv
AQ = 15cm  F¦nÂ AR sâ \ofw F{X?
[a] 12 cm [b] 6 cm
[c] 7.5 cm [d] 15cm
[e] 5 cm

70. I«n-bmb Hcp AÀ[ tKmf-¯nsâ hym]vXw
30 cm3 CXnÂ \n¶pw  sN¯n-sb-Sp-¡m-hp¶
]c-am-h[n henb h¯-kvXq-]n-I-bpsS
hym]vXw F{X?
[a] 30 cm3 [b] 15cm3

[c] 60cm3 [d] 120cm3

[e] 7.5 cm3
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71.

A

B
C

P

Q
R

3cm

60
0

If  PQ = 3cm, PQRC is a square. Then what is
the length of AB ?

[a] 2 3 [b] 2 2 3

[c] 6 2 3 [d] 
2

6
3



[e] 3 3 3

72. If 10th  term of an  arithemetic  sequance  is
15 and  15th  term is 10  then what will be its
30th term ?

[a]  - 5 [b] 5 [c] 0

[d] 25 [e] 10

73. If 2cos cos 1A A  , then the value  of

2 4sin sinA A  is

[a] 1 [b] 
1

2
[c] 2

[d] 3 [e] 
1

4

71.

A

B
C

P

Q
R

3cm

60
0

PQ = 3cm, PQRC Hcp ka-N-Xp-chpw
BIp¶p  AB bpsS \ofw F{X?

[a] 2 3 [b] 2 2 3

[c] 6 2 3 [d] 
2

6
3



[e] 3 3 3

72. Hcp kam-´c t{iWn-bpsS 10mw ]Zw 15Dw 15mw
]Zw 10Dw  BIp-¶p. CXnsâ 30--mw ]Zw F{X?

[a]  - 5 [b] 5 [c] 0

[d] 25 [e] 10

73. 2cos cos 1A A  BbmÂ 2 4sin sinA A
F{X?

[a] 1 [b] 
1

2
[c] 2

[d] 3 [e] 
1

4
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74.

D

30
0

20 cm

60
0

BA

C

If  BC = 20cm find the  length of AD

[a] 60 cm [b] 40cm
[c] 55cm [d] 50 cm
[e] 100cm

75.

A B

D

9cm

9cm

60
0

C90
0

ABCD is  a cyclic  quadrilateral then what is
the length of the  diagonal AC ?

[a] 9 cm [b] 3 3 cm

[c] 6 3 cm [d] 9 3 cm

[e] 3 21cm

76. If cos cos 2.   sin(90 )  then

cos  =..............

[a] 1 [b] 2 1

[c] 2 1 [d] 1

[e] 0

74.

D

30
0

20 cm

60
0

BA

C

BC bpsS  \ofw20cm aoäÀ F¦nÂ
AD bpsS \ofw F{X
[a] 60 cm [b] 40cm
[c] 55cm [d] 50 cm
[e] 100cm

75.

A B

D

9cm

9cm

60
0

C90
0

ABCD Hcp N{Inb NXpÀ`p-Pw-B-Ip-¶p. AC
F¶ hnIÀW-¯nsâ \ofw ImWpI

[a] 9 cm [b] 3 3 cm

[c] 6 3 cm [d] 9 3 cm

[e] 3 21cm

76. cos cos 2.   sin(90 ) BbmÂ

cos  =..........

[a] 1 [b] 2 1

[c] 2 1 [d] 1
[e] 0
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77. The sum of the third  and seventh terms of an
arithemetic  progression  is 6 and  thier prod-
uct is 8, then commen difference is

[a] 1 [b] 
1

2
 [c]

1

4


[d] 2 [e] 
1

3


78. The area of a square is the  same as the  area
of  a circle. The  perimeters of the circle and
sqaure are in the  ratio

[a] 1 : 1 [b] 2 :

[c] 4 : [d] 2 :

[e] : 2

79.

D

P

A

M
P

B

N
Q

C

D

In the  figure  AB, CD, PQ are  tangents . If
AB = 12 cm , AM = 3cm . What is the
length  of PQ ?
[a] 15 [b] 9 [c] 12
[d] 6 [e] 7

80. The sum of  three  numbers  is 98. The ratio of

the  first  to the  second  number is 
2

3
 and the

ratio of the  second  to the third  is 
5

8
, Then the

second number is
[a] 15 [b] 20 [c] 30
[d] 23 [e]  32

77.  Hcp kam-́ c t{iWn-bnse 3þmw ]Z-̄ n-sâbpw
7þmw]Z-¯n-sâbpw XpI 6 Dw Ah-bpsS KpW-
\-^ew 8, Dw BbmÂ, CXnsâ s]mXp
hyXym-kw..........................

[a] 1 [b] 
1

2
 [c]

1

4


[d] 2 [e] 
1

3


78. Hcp ka-N-Xp-c-̄ n-sâbpw hr -̄̄ n-sâbpw  ]c-
¸-fhv Xpey-am-bmÂ Ah-bpsS Npä-f-hp-I-fpsS
Awi-_Ôw......................

[a] 1 : 1 [b] 2 :

[c] 4 : [d] 2 :

[e] : 2

79.

D

P

A

M
P

B

N
Q

C

D

Nn{X-̄ nÂ AB, CD, PQ   F¶nh sXmSp-h-c-
IÄ BWv AB = 12 cm , AM = 3cm BIp¶p.
PQ hnsâ \ofw F{X?
[a] 15 [b] 9 [c] 12
[d] 6 [e] 7

80. aq¶ kwJy-I-fpsS XpI 98. CXnÂ BZy-s¯bpw

c­m-a-s¯bpw  kwJy-I-fpsS  Awi-_Ôw
2

3

c­m-a-s¯bpw  aq¶m-a-s¯bpw  kwJy-I-fpsS

Awi-_Ôw 
5

8
F¶mÂ c­m-as¯ kwJy

[a] 15 [b] 20 [c] 30
[d] 23 [e]  32
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